
BORONIA TOWBARS P/L 
1/12 EDINA RD 

FERNTREE GULLY 
VIC 3156 

(03) 9752 2642 
 

 
 

MAZ58 FITTING INSTRUCTIONS 
MAZDA 6 SEDAN/HATCH (NOT MODEL WITH SKIRTS) 

 
 
 
REMOVE SPARE WHEEL. 
REMOVE & DISCARD TWO RUBBER GROMMETS IN SPARE WHEEL 
CARRIER FLOOR. 
MOUNT TOWBAR TO TIE DOWN HOOKS USING 16mm BOLTS SUPPLIED 
COMPLETE WITH SPRING WASHERS & PLATES SUPPLIED, TIGHTEN. 
FIT 75 x 40 x 11mm HOLE PLATES COMPLETE WITH 11/4 x 3/8 BOLTS 
SUPPLIED, TO HOLES IN SPARE WHEEL AREA, (TOWBAR FORWARD ARM 
WILL ALIGN WITH THESE HOLES), FIT NUTS WITH SPRING WASHERS – 
TIGHTEN. 
DRILL (10mm) HOLES VIA TOWBAR SIDE SUPPORT ARMS INTO BOOT 
AREA, FIT 11/2 x 3/8 BOLTS SUPPLIED COMPLETE WITH PLATES, FIT NUTS 
WITH SPRING WASHERS – TIGHTEN. 
REFIT SPARE WHEEL. 
 
 
NOTE: WIRING HARNESS AVAILABLE FOR THIS VEHICLE. 
 
 
FITTING KIT: 
 
2 – 16mm BOLTS, SPRING WASHERS & CUT DOWN PLATES. 
2 – 11/4 x 3/8 BOLTS, NUTS, SPRING & FLAT WASHERS. 
2 – 11/2 x 3/8 BOLTS, NUTS, SPRING & FLAT WASHERS. 
2 – 75 x 75 x 11mm HOLE PLATES. 
2 – 65 x 20 x 11mm HOLE PLATES. (OFFSET HOLE). 
1 – DEE SHACKLE. 
 


